'pynna 1.7




1 be=pé=3a
be=ce=na
bo=10-TO
by=ma=ra i{
Bo=po-Ha
Bo=po-Ta
I a=3e=Ta

i
i
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i
i
]
] I a=10=1m111
i

I m=Ta=pa

\ I'y=ChbI=HA



17100 BI U a mTocajmga
1jmopora Kelles3o
13a00Ta
13agadya
13aHO3a

13a0IUTa
TKaOHuUHa




1 Kagenn KOJIEHO

1 KonbITo KOpOHAa
1 KopoBa KOPBITO
1 Kopsra KYHHLA

1JlaBuHa jJaqgyra
1Jlomara JIOCUHBI
1Makaka MaJInHa

1 MaxuHa MallluHa

Dm'oa\ MHUHYTAa



1 Hagano
1 Henensa
0 Ilepuna
1 Ilepuna
1 Ilemepa
1 IImxama
1 Iloroma
1 Ilorons
1 ITobena
1 lloseHno
0 IlomstHa
1 Ilopoma
1 mocyaa



PabOora
PakeTta
PaOuna
Cupena
CoJsioma
Tenera
durypa

\

pa3uHs
paKuTa
CHUHHIIA

co0aka
COpOKa

TUXOHS

‘.-




